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QUESTION 1

What is the maximum number of supported interfaces on a vSRX hosted in a VMware environment?

D. 12

Correct Answer: B

QUESTION 2

What is the correct step sequence used when Sky ATP analyzes a file?

A. static analysis -> cache lookup -> antivirus scanning -> dynamic analysis
B. cache lookup -> static analysis -> antivirus scanning -> dynamic analysis
C. cache lookup -> antivirus scanning -> static analysis -> dynamic analysis
D. dynamic analysis -> static analysis -> antivirus scanning -> cache lookup
Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/release-independent/sky-atp/informationproducts/pathway-
pages/sky-atp-admin-guide.pdf page 9

QUESTION 3

Which statement is true about high availability (HA) chassis clusters for the SRX Series device?
A. Cluster nodes require an upgrade to HA compliant Routing Engines.

B. Cluster nodes must be connected through a Layer 2 switch.

C. There can be active/passive or active/active clusters.

D. HA clusters must use NAT to prevent overlapping subnets between the nodes.

Correct Answer: C
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QUESTION 4

In an Active/Active chassis cluster deployment, which chassis cluster component is responsible for RGO traffic?
A. the backup routing engine of the primary node

B. the master routing engine of the secondary node

C. the primary node

D. the secondary node

Correct Answer: C

QUESTION 5

Click the Exhibit button.

M\ Exhibit ®

userfisrx> show services user-identification identity-management status
Primary server :

Address : 172.25.11.130
Port : 443
Connection method : HTTPS
Connection status : Online
Last received status message 7 invalid_client{iﬂﬂ]
Access token : NULL
Secondary server !
Address : Not configured

You have configured your SRX Series device to receive authentication information from a JIMS server. However, the
SRX is not receiving any authentication information.
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Referring to the exhibit, how would you solve the problem?

A. Use the JIMS Administrator user interface to add the SRX device as a client.

B. Generate an access token on the SRX device that matches the access token on the JIMS server.
C. Update the IP address of the JIMS server

D. Change the SRX configuration to connect to the JIMS server using HTTP.

Correct Answer: B

QUESTION 6

Which statement is true about JATP incidents?

A. Incidents have an associated threat number assigned to them.
B. Incidents are sorted by category, followed by severity.

C. Incidents consist of all the events associated with a single threat.
D. Incidents are always automatically mitigated.

Correct Answer: C

QUESTION 7

You want to deploy vSRX in Amazon Web Services (AWS) virtual private clouds (VPCs). Which two statements are true
in this scenario? (Choose two.)

A. The vSRX devices serving as local enforcement points for VPCs can be managed by a centralized Junos Space
Network Director instance.

B. MPLS LSPs can be used to connect vSRXs in different VPCs.
C. IPsec tunnels can be used to connect vSRX in different VPCs.

D. The vSRX devices serving as local enforcement points for VPCs can be managed by a centralized Junos Space
Security Director instance.

Correct Answer: CD

QUESTION 8
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Click the Exhibit button.

SRX-1

User-1

Referring to the exhibit, you want to deploy Sky ATP with Policy Enforcer to block infected hosts at the access layer.
To complete this task, where should you configure the default gateway for the User-1 device?

A. the irb interface on QFX-2

B. the irb interface on QFX-1

C. the interface of QFX-1 that connects to User-1

D. the interface on SRX-1 that connects to QFX-2

Correct Answer: B

QUESTION 9
You are configuring a client-protection SSL proxy profile. Which statement is correct in this scenario?
A. A server certificate is not used but a root certificate authority is used.

B. A server certificate and root certificate authority are not used.
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C. A server certificate is used but a root certificate authority is not used.
D. A server certificate and a root certificate authority are both used.

Correct Answer: D

QUESTION 10

Click the Exhibit button.
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userfsrx> show configuration services
advanced—-anti-malware |
policy TPP {
http {

inspection—-profile default profile;

action block;

notification {

log;

}
verdict—threshold 7;

fallback-options {
action permit;
notification {
logs;

}

default-notification {
log:;

}

whitelist-notification {
log:;

}

blacklist-notification {
log:;

userfsrx> show configuration security policies
from—-zone Client to—zone Internet {
policy Rule-1 {
match {
source—address any;
destination—-address any;
application any;
}
then {
permit
application-services |
advanced-anti-malware-policy TEPR;
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You have deployed Sky ATP to protect your network from attacks so that users are unable to download malicious files.
However, after a user attempts to download a malicious file, they are still able to communicate through the SRX Series
device.

Referring to the exhibit, which statement is correct?

A. Change the security policy from a standard security policy to a unified security policy.

B. Remove the fallback options in the advanced anti-malware policy.

C. Configure a security intelligence policy and apply it to the security policy.

D. Lower the verdict threshold in the advanced anti-malware policy.

Correct Answer: C

QUESTION 11

What are two types of attack objects used by IPS on SRX Series devices? (Choose two.)
A. protocol anomaly-based attacks

B. spam-based attacks

C. signature-based attacks

D. DDoS-based attacks

Correct Answer: AC

QUESTION 12

You are asked to improve resiliency for individual redundancy groups in an SRX4600 chassis cluster. Which two
features would accomplish this task? (Choose two.)

A. IP address monitoring
B. control link recovery
C. interface monitoring
D. dual fabric links

Correct Answer: BD
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QUESTION 13

Click the Exhibit button.

M\ Exhibit =

[edit system syslog]
userlfsrx# show
host 10.210.14.130 {
user info;
source-address 10.210.14.133;

Referring to the configuration shown in the exhibit, which two statements are true? (Choose two.)
A. The log is being stored on the local Routing Engine.

B. The log is being sent to a remote server.

C. The syslog is configured for a user facility.

D. The syslog is configured for an info facility.

Correct Answer: BC

QUESTION 14
The AppQoE module of AppSecure provides which function?

A. The AppQoE module provides application-based routing.
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B. The AppQoE module prioritizes important applications.
C. The AppQoE module provides routing, based on network conditions.
D. The AppQoE module blocks access to risky applications.

Correct Answer: A

QUESTION 15

Data plane logging operates in which two modes? (Choose two.)
A. syslog

B. binary

C. event

D. stream

Correct Answer: CD

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/system-logging-for-asecurity-
device.html
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